s EHREAERKE KEREHE 5 froont HEREL-S-
REGET . ZEMEFRBESHA F1KE (BEKEZ) FRRE R B AR T = 12310 i
15E BT HAE(E 4/13 10/12 BIEER | FEES &KIE &/ME FigiE 103 ZMEE o0nid RAEREE
Bk [EIE: Bk
Kig °c - 14.1 14.0 2 - 14.1 14.0 14.1 - - - 2022/4/13
i °c - 21.0 18.9 2 - 21.0 18.9 19.9 - - - 2022/4/13
—fHEE /mL 100LLF 0 0 2 - 0 0 0 - = - —
Ki5E - BESAGNC &R Shizn | Rl Ehin 2 - - - - - - - -
A EFIILRUVZDILEY mg/L | 0.003 mg/LLLTF|[0. 0003k | 0. 0003k i 2 - 0.0003k# | 0.0003zK# | 0.0003%k i - - - -
KBRUVZDIEEY mg/L | 0.0005 mg/LLAT|0. 000055k | 0. 000055k 2 - 0. 000055k3# | 0. 000055k | 0. 00005k 5% - - - -
L URUBZDIEEY mg/L | 0.01 mg/LLAT|[0. 0015K3#| 0. 001K 2 - 0. 001K 0. 001K 0. 001K = - = =
BREUVZDIEEY mg/L | 0.01 mg/LLAT|[0. 0015K3#| 0. 001K 2 - 0. 001K 0. 001K 0. 001K = - = =
EXRUVZDILEY mg/L | 0.01 mg/LLAT|[0. 0015K3#| 0. 001K 2 - 0. 001K 0. 001K 0. 001K = - = =
Ao B LEEY mg/L | 0.02 mg/LEAT|[0. 001K 0. 001K 2 - 0. 001K 0. 001K 0. 001K % - - - -
EEEREER mg/L | 0.04 mg/LLAT[[0. 004K | 0. 004K 5% 2 - 0. 004 5 0. 0045 0. 0045 5 — - = =
T AMAF U RIEIES T Y mg/L | 0.01 mg/LLAT[[0. 0015K3#| 0. 001K 2 - 0. 001K 0. 001K 0. 001K 3% - - - -
HBEEZRRUEMEBEESR mg/L 10 mg/LLLT 0.3 0.3 2 - 0.3 0.3 0.3 — - — —
TvRRUZDILED mg/L 0.8 mg/LLLTF || 0. 05K# | 0. 05 2 - 0. 055K 0. 05K 0. 05K i = - = =
RIRRVZDILEY mg/L 1.0 mg/LUAT || 0. 1K | 0. 1KiH 2 - 0. 1R 0. 1R 0. 1R — - — —
migbkE mg/L |0.002 mg/LLLTR||0. 00025k | 0. 00025k 2 - 0.00025k#% | 0.0002:K#% | 0.0002:K % - - - -
1,4-OFFH> mg/L | 0.05 mg/LLLT||0. 0055k | 0. 005K i 2 = 0. 005 i 0. 0055k i 0. 0055 = - = =
vA-1,2-y" pmnIFby R bva-1, 2=y pmaziby| mg/L | 0. 04 mg/LLLT|]|0. 0045Ki#| 0. 0045k & 2 - 0. 00455 0. 00435 0. 00455 = - - -
P2/A==F 5 0V mg/L | 0.02 mg/LLAT[]0. 00253 | 0. 002K i 2 - 0. 002K i 0. 002K 0. 002K i# - - - -
ThkIoBBRIFLY mg/L | 0.01 mg/LLLT||0. 00055k | 0. 00055k 2 - 0. 0005k | 0.00055K:# | 0.0005 i = - = =
ryosBpoIFLY mg/L | 0.01 mg/LLAT[]0. 0015%3# | 0. 001K 2 - 0. 001K 0. 001K% 0. 001K % - - - -
RvEy mg/L | 0.01 mg/LLLT||0. 0015k | 0. 00155 2 = 0. 00155 0. 001 0. 001K = - = =
ERE mg/L - — - 0 - - — - - — - —
4 0 O Erg mg/L - — - 0 - - — - - — - —
Z2=0=F JIWN mg/L - - - 0 - - - - - - - -
oY noEk mg/L - - - 0 - - - - - - - -
AT/ AEY mg/L - - - 0 - - - - - - - -
K& mg/L - - - 0 - - - - - - - -
wrunoray mg/L - - - 0 - - - - - - - -
(VR =Rl me/L - - - 0 - - - - - - - -
JOoET/nRAEY mg/L - - - 0 - - - - - - - -
TaERILL mg/L - - - 0 - - - - - - - -
RILLFLTEF mg/L - - - 0 - - - - - - - -
BRRUZOLEY mg/L | 1.0 mg/LLLT || 0. 015K | 0.01ki% 2 - 0.01k% | 0.01ki% | 0.01%k¥ - - - -
FILE=ZYLRUVZDEEY mg/L | 0.2 mg/LLLF || 0. 025k | 0. 025k 2 - 0.025%#% | 0.025k% | 0.02%i% - - - -
HRUZOEEY mg/L | 0.3 mg/LLLT [ 0. 035 | 0.03%i% 2 - 0.03%# | 0.03k% | 0.03%k% - - - -
ARUZOEEY mg/L | 1.0 mg/LLLT [ 0. 025K | 0. 0253 2 - 0.02k7% | 0.025k% | 0.02%k% - - - -
FRUDLRUZDILED mg/L 200 mg/LLATF 4.9 4.7 2 = 4.9 4.7 4.8 — - — 2022/4/13
IUHVRUZDIEEY mg/L | 0.05 mg/LLLT||0. 0055 | 0. 0055 5 2 — 0. 00555 0. 00555 0. 00555 — - — —
bk (a7 O mg/L 200 mg/LLATF 2.8 2.8 2 = 2.8 2.8 2.8 - - - =
ANYIL, ITRIILE (BE) mg/L 300 mg/LLATF 31 31 2 = 31 31 31 2 - - =
ARZBY mg/L 500 mg/LLATF 85 89 2 — 89 85 87 2 - - 2022/10/12
feA A4 o REEEHR mg/L 0.2 mg/LLATF || 0. 02k | 0. 025k 2 — 0. 02k 0. 025K 0. 02k — - — —
CSIAARIY mg/L  |0.00001 mg/LLLT||o. 0000015k:%] 0. 0000015k 2 - 0. 000001k;#| 0. 000001k | 0. 000001 5 5 - — - -
2-AF LA IYRILIRF—IL mg/L  |0.00001 mg/LLA 0. 0000015k:#| 0. 0000015k 2 - 0. 000001k | 0. 0000013k 0. 000001 K 7% . — . .
A A U REFHEH mg/L | 0.02 mg/LLLT||0. 0025 | 0. 0025 5 2 — 0. 00255 0. 002555 0. 00255 — - — —
71/ —EE mg/L | 0.005 mg/LLLTR||0. 00055k# | 0. 00055k 2 — 0. 00055k | 0.000553% | 0.0005k:% - - - -
A (@H#RE (T00) D) mg/L 3 mg/LULT 0.3k | 0.3k 2 — 0. 3k 0.3k 0. 3K — — - -
pHiE - 5.8LLE8.6LLTF 8.1 8.1 2 = 8.1 8.1 8.1 - - 2 =
3 - BETRVWI L EELGL | BELGL 2 — - — - - — - -
B - BETRVWIL|| EELL | BEAGL 2 - — — — — — — -
BE E SELLTF 0.55K5% | 0.5k 2 - 0. 5K 0. 5k 0. 5K % - - - -
AE E 2ELLTF 0.1 0. 1R 2 - 0. 1R 0. 15K 0. 1R - - - -
KBIER mg/ | - i _ 0 - - — - - — - -
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